Преобразуйте  в многочлен
 EQ \b(a+3)\s\up8(3)+\b(a+1)\b(a+4) = EQ  \b(a\s\up8(3)+9a\s\up8(2)+27a+27)+\b(a+1)\b(a+4) =

 EQ  \b(a\s\up8(3)+9a\s\up8(2)+27a+27)+\b(a\s\up8(2)+4a+a+4) = EQ  \b(a\s\up8(3)+9a\s\up8(2)+27a+27)+\b(a\s\up8(2)+5a+4) =

= EQ  a\s\up8(3)+9a\s\up8(2)+27a+27+a\s\up8(2)+5a+4 = EQ  a\s\up8(3)+10a\s\up8(2)+32a+31 
 EQ -x\b(x+2)-\b(x-7)\b(x\s\up8(2)+7x+49) = EQ  -\b(x\s\up8(2)+2x)-\b(x\s\up8(3)-343) = EQ  -x\s\up8(2)-2x-x\s\up8(3)+343 = EQ  -x\s\up8(3)-x\s\up8(2)-2x+343 
 EQ -2\b(v+1)\b(v+4)-\b(v-5)\b(v+5) = EQ  -\b(2v+2)\b(v+4)-\b(v\s\up8(2)-25) =

= EQ  -\b(2v\s\up8(2)+8v+2v+8)-\b(v\s\up8(2)-25) = EQ  -\b(2v\s\up8(2)+10v+8)-\b(v\s\up8(2)-25) =

= EQ  -2v\s\up8(2)-10v-8-v\s\up8(2)+25 = EQ  -3v\s\up8(2)-10v+17 
 EQ -2\b(x+2)\s\up8(2)-\b(x+5)\b(x\s\up8(2)-5x+25) = EQ  -2\b(x\s\up8(2)+4x+4)-\b(x+5)\b(x\s\up8(2)-5x+25) =

= EQ  -\b(2x\s\up8(2)+8x+8)-\b(x\s\up8(3)+125) = EQ  -2x\s\up8(2)-8x-8-x\s\up8(3)-125 = EQ  -2x\s\up8(2)-8x-133-x\s\up8(3) = EQ  -x\s\up8(3)-2x\s\up8(2)-8x-133 
Разложить на множители

 EQ a\s\up8(5)+a\s\up8(4)-2a\s\up8(3)-2a\s\up8(2)+a+1 = EQ  \b(a\s\up8(5)+1)+\b(a\s\up8(4)-2a\s\up8(3)-2a\s\up8(2)+a) =

= EQ  \b(a\s\up8(4)-a\s\up8(3)+a\s\up8(2)-a+1)\b(a+1)+\b(a\s\up8(3)-3a\s\up8(2)+a)\b(a+1) = EQ  \b(a\s\up8(4)-a\s\up8(3)+a\s\up8(2)-a+1+a\s\up8(3)-3a\s\up8(2)+a)\b(a+1) =

= EQ  \b(a\s\up8(4)+a\s\up8(3)-a\s\up8(3)+a\s\up8(2)-3a\s\up8(2)-a+a+1)\b(a+1) = EQ  \b(a\s\up8(4)-2a\s\up8(2)+1)\b(a+1) 
 EQ 1-\b(8a-3)\s\up8(2) = EQ  1\s\up8(2)-\b(8a-3)\s\up8(2) = EQ  \b(1-\b(8a-3))\b(1+\b(8a-3)) = EQ  \b(1-8a+3)\b(1+8a-3) =

= EQ  \b(4-8a)\b(-2+8a) 
Упростить

 EQ \f(p-g;p\s\up8(3)g\s\up8(2))-\f(p+g;p\s\up8(2)g\s\up8(3)) = EQ  \f(-g+p;p\s\up8(3)g\s\up8(2))-\f(g+p;p\s\up8(2)g\s\up8(3)) = EQ  -\f(g-p;p\s\up8(3)g\s\up8(2))-\f(g+p;p\s\up8(2)g\s\up8(3)) = EQ  -\f(\b(g-p)g;p\s\up8(3)g\s\up8(3))-\f(\b(g+p)p;p\s\up8(3)g\s\up8(3)) =

= EQ  \f(-\b(g-p)g-\b(g+p)p;p\s\up8(3)g\s\up8(3)) = EQ  \f(-\b(g\s\up8(2)-gp)-\b(gp+p\s\up8(2));p\s\up8(3)g\s\up8(3)) = EQ  \f(-g\s\up8(2)+gp-gp-p\s\up8(2);p\s\up8(3)g\s\up8(3)) =

= EQ  \f(-g\s\up8(2)-p\s\up8(2);p\s\up8(3)g\s\up8(3)) = EQ  -\f(g\s\up8(2)+p\s\up8(2);p\s\up8(3)g\s\up8(3)) 
Сделала всё что смогла!
